Sectors (Area and Arc Length)

— é\REVISE THIS
1S T

1 OAB is a sector of a circle.

5cm @

0]

(a) Work out the area of the sector.
Give your answer to 1 decimal place.

150 1T x 5"
360

YRS WS 21}

cm?
(b) Work out the length of the arc AB.
Give your answer to 1 decimal place.
.‘_S_Q X T X \O
360
= |3-03916139
‘3l
(Total for Question 1 is 4 marks)
1
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2 OAB is a sector of a circle.

o

8.2¢cm

(a) Work out the area of the sector.
Give your answer to 1 decimal place.

_%o x TUX 8-2°
360

= k6-94223 556
46-9

(b) Work out the length of the arc AB.
Give your answer to 1 decimal place.

30 x TU X |(9Ll'
360

= 1 44435991
|-

cm?

cm

(Total for Question 2 is 4 marks)
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3 OAB is a sector of a circle.

60 -1OY
- 256

(a) Work out the area of the sector.
Give your answer to 1 decimal place.

156 x TU X ?L
360

= (09 630507

cm?

(b) Work out the length of the arc AB.
Give your answer to 1 decimal place.
ZSG X TC X I 4
360
= 3121630072
213
cm

(Total for Question 3 is 4 marks)
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4 OAB is a sector of a circle. @

o)

6 cm @

(a) Work out the area of the sector.
Give your answer in terms of «t

120 , 1T x 62
360

= _l_xrb)t‘SQ
3

VA

(b) Work out the length of the arc AB.
Give your answer in terms of

120 xTUx (L
360

=_|_xrb)£ ]2_
3

b .

(Total for Question 4 is 4 marks)
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5 OAB is a sector of a circle.
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45°

4cm

(a) Work out the area of the sector.
Give your answer in terms of «t

_l|-§_ x TU X '+Z

360

=_|_xrb)<. \(a

%

ATC

(b) Work out the length of the arc AB.
Give your answer in terms of

45

360

x TU X 8

=_I_)<.rb)£ %

3
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6 OAB is a sector of a circle.

85°

A 11cm

Work out the perimeter of the sector.
Give your answer to 1 decimal place.

Arc \ena-\’\n = 386?) «Ttx 21T

= (63182 2891
16-3.. + |l +1 = 3% - 2183135

3% 3

(Total for Question 6 is 3 marks)
7 OAB is a sector of a circle.

e
13 m

)

Work out the perimeter of the sector.
Give your answer to 1 decimal place.

Arr. \Cha-hn = :lJ,LgL(')' x TU X 2.6

= 3L 6F2L9626
3L6.. +13+13 = S%-6F 15630

58 %

(Total for Question 7 is 3 marks)
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8 ABC and DEF are sectors of different circles.

A D
12 cm
E F
B C

AC:DF=3:2
Angle BAC : Angle EDF =2:5

Tick the box for the sector with the greater area.

Sector ABC /| Sector DEF

Show working to support your answer.

Ac:D?_F Bkir 1éDF
(% & o : )xllo
ﬂClZ”X‘) (3?.=‘80

Area ARC= 32 mtx (27
L60
%0- L1229 S9F

Area DEF = 80 ,mtx 8"
260

4. 63 0€2885

(l

(

(Total for Question 8 is 5 marks)
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9 OAB and OCD are sectors of circles with centre O.

OB=8cm
BD =3cm

Work out the area of the shaded region.
Give your answer to 3 significant figures.

Areo. OCD= 125 oy ll”
360

= 131-990S 4%

Area. 0AB= 125  wy ®°
360

6% 31313003

(1]

13199 — 69 81 ... = 621FF3SH6L

' (Total for Question 9 is 4 marks)
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10 OAB, ODC and OEF are sectors of circles with centre O.

OE=1m

ED=2m

DA=3m

Angle AOB = Angle DOC = Angle EOF = 70°

A robot starts at point A and follows the path ABCDEFO.

Work out the total distance that the robot travels.
Give your answer to 1 decimal place.

AB= 30 y1wx 12=33303%235%
360

CD=_3I0 xTtx 6 = %665121429
360

EF:’ 0 xTTx 1
360

33 4%bb+ 121 T4 4
= 18- UF 0o

2121304 36

i\

|81

(Total for Question 10 is 4 marks)
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11 OAB and OCD are sectors of circles with centre O. @

A 9cm 0 & ~>D

AO=9cm
BC=3cm
Angle COD = 60°

AOB and OBC are straight lines.

Area of sector OAB — Area of sector OCD = kn  where K is an integer.

Work out the value of k.

Areo. OAD = 120 . wxq®
360

'ﬁ,x‘lﬁ)&gl
AT

60 X TC X \’L'L
360

Y x x4l
A4 TC

Y

[y

Area. OCLD

\l

i\

Vo -Ww:-Ue
.3

(Total for Question 11 is 4 marks)
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12 OAB is a sector of a circle.

166° B

The area of the sector is 32 cm?
Work out the radius of the sector.
Give your answer to 1 decimal place.

l_& xTC X r" =32
360
rt = 32x7%0
(66TC

W

r* = 12-0%99%909
C = \J72-08...

4}

(Total for Question 12 is 3 marks)

cm
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13 OAB is a sector of a circle.

20cm

The length of arc AB is 22 cm
Work out the value of X.
Give your answer to the nearest degree.

X x 1T x 40 = 2L
360

. = 22X %60
Yot

x> 63-025%..

- 0%

(Total for Question 13 is 3 marks)
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14 Here are two sectors from different circles.

Sector A Sector B

Area = 271t cm?

—

9cm

The length of the arc of sector B = 2 x the length of the arc of sector A

Work out the area of sector B
Give your answer in terms of &

X xxat=23% A= 2T
%0 |

. 230 xrixd =1
RIxll = Q3L , oo

l —

X = \200 |, 200

Arcﬁ- 170 x10 (8
360

> B xl§
= (9.\1

48T

(Total for Question 14 is 6 marks)

cm?
13
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